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& & M| & B [#Ru] & F |[HRk
b %A 36,954,798 100.0 35,311,022 100.0 36,525,240  100.0
— o 4 #= ¥ fF| 1,283,893 3.5 1, 201, 350 3.4 1, 118, 401 3.1
s [ O E T B % F ¥ f| 1,302 288 3.5 1, 226, 689 3.5 1, 149, 631 3.2
y S-S - A = - 12, 200 .0 12, 200 0.0 13,410 0.0
BE - Ak e Rk E B R F ¥ & 4,835,384 1301 4,264,485  12.1 3, 356, 397 9.2
@ | e o o # ¥ fF| 13,613,705 36.8 12,270,777  34.7 13,336,549 36.5
JE A& @ Ak fE Bk K fF ¥ E 142, 528 0.4 102, 695 0.3 79, 465 0.2
D B T = ff 130, 000 0.4 130, 000 0.4 130, 000 0.4
L /7 %t % 1 825, 415 2.2 734,113 2.1 802, 482 2.2
R -7 R - Y T 170, 120 0.5 142, 507 0.4 113, 168 0.3
5 i i T 'y & 2,781,323 7.5 2,490, 822 7.0 2,188,579 6.0
D L7 I G A GV VAR - 337,900 0.9 303, 396 0.9 268, 168 0.7
At EE oMy M B xS | 9,161,513 24.8 10,197,270  28.9 11,862,935 32.5
K 153 I =y fF 4 269, 863 0.7 234, 752 0.7 199, 641 0.5
z » fit| 2,088, 666 5.7 1,999, 966 5.6 1,906, 414 5.2
R A 29,072,573 100.0 28,818,096 100.0 28,473,251  100.0
TAGElS T ok B H ¥ fF| 20,998,181 72.2 20,576,496  71.4 20,033,856 70. 4
WO F ok E #FH ¥ & 5,272,931 18.2 5,001,762  17.4 4, 767, 346 16.7
% BoE BB AN T KE FE ¥l 1,762, 161 6.1 1,711, 370 6.0 1, 656, 039 5.8
g K #H ¥ ¥ f fE 998, 100 3.4 1,481, 038 5.1 1, 959, 150 6.9
= FEE HbdEk AR TR BE K L PR i R 9 2 36, 500 0.1 43, 200 0.1 53, 100 0.2
G OON A S A o R R 4,700 0.0 4, 230 0.0 3, 760 0.0
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